


"#$% &

&M *
), 0
$
+)-5
(
7

$ (



"#$% &
& *
+),-/ 0
$
+)-5
(
y

$(



1" #$ % & I

) *+ 0+ # - I,
[H#-.*  +, . 0 #12%!9%003%40555* , 4*6 7*086 9, *
., 4,4%756 <& ( * o+
$ o , => 9,
*’ % & < ’ + ’ :) (
9, , < ?+ =) < 9, <
, < #- . < , < = . -
05=0 +, 7= = ' +,
, < + < , $ * 5@ + |
, $ =
< o x * , $ /+ % <<
+, < + * + , 4 <
< 2+ HIA O+ + <, #
! ! #
B = = = < <
) C(.0>+$( -

$$ HH#% # #>->%.0%) C%#2>%>>%550%54



1" #$ % & I

&
-, < < + =>
e y , T, 9, />#C
?+ * D * 2+ 7+ *AA>S*I
#-. | 9, :,,
+, <
- < < = 9, $, +
/$, ?+ + E <
< .+, 4
8) < + <
+< & <, + # =
8) + < + <

8) < $ <
< * + & : ?+ +
+ * 1) 9 ] < )
& #
> <

+ + !
* +
$ *AC' =) +*
$ ) 1?+
< =
o+ &
+ P+ 45E
* O+ +
.+ +
>CC #
*
< <



1" #$ % & I

(# #)

Number of sources

Sources with magnitude

Sources with redshift

Astrometry precision

Magnitude precision

Redshift precision

Average density

Average neighbor distance

Maximum distance to neighbor

Maximum distance to neighbor (average of 100 larger values)

1,248,372

1,246,512

1,157,285

] arcsec

0.5

0.01

30.3 sources/deg”

3.7 arcmun (o 4.9 arcmin)
5.2 deg

3.0 deg (7 0.6 deg)

$# $ ) #

1,5
3,0
4,5

151
300
450
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F& (deg) DEC (deg) HMAG = B=zhr B=rn Bgrn Rshr E=srn Egrn I=shr
0.001997 -0.451102 20.50 0,250 2.00
0.005750 —-30.607472 19 50 1 .143 0.20 0.01 0.91
0.007333 —-31.373833 19.86 1. 331 0.73 0.44 0.00 1.82
o.o080e7 —-0.240971 19.93 2. 163 1.00
0.013229 1. 252967 20.74 2. 354 1.00
0.022875 =27 419556 19 .14 1 . 930 0.12 1.01 0.41
o.oz7z3l 0.515332 20.49 1.823 0.73 0.48 0.26 0.63
0.031al18 0.495354 20 .38 2 2G4 1.00
0.033300 -3 .593300 17 .00 0.136 0.42 0.95 0.17
0.033946 0.276292 20.02 1.839 1.18 1.10 0.49 0.71
0.038609 15 298489 19 .38 1 204 0 .36 0.92 0.08 0.92 0.02 0.30 1.11
0.038/57 2106112 19 46 1 432 1.00
0.039099 13.938458 13 .43 2 225 0.63 0.91 0.09 0.59 0.22 0.14 2.07
0.039264 -10.4R4410 18 97 1 854 3.00
0.040375 =31 . 279972 18 65 1 727 1.16 1 .47 0.77 1.11
0.041250 —-30.924944 18 .37 1.787 0.29 0.07 0.03
0.047551 14 929367 19 36 0. 460 0.07 0.09 002 0.18 0.76 0.04 0.17
0.048197 -8.83G6659 19 .06 3.220

0.0485833 -31.644417 19.38 2.630 0.95 0.43 1.43
0.049839 0.040359 17 .85 0.480 0.42 1.11 0.44 0.38
0.051083 -0.539051 20.33 1.43%6 0.99 0.27 0.38 0.01
0.054310 4 734323 20.89 2 .624 1.00
0.054787 14 176304 19.12 0.949 0. 86 1 .20 0.30 0.36 0.9 0.48 0.40
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. #$ + Satellite spin axis : Line of sight 1

Precession of the
spin axis in 63 days
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